M10x30 - dx
MI10x100 - 2%
MI0x110 - 2x
MI12x70 - 2% (A)
M12x920 - 2x (1)
M12x19 - 3x (C)
M12x21 - 1x (C)

M10 - 5x
M12 - 2x (A)

PP12 - 2x (A.)
PP12 - 4x [C)

W PM10x30 - 1x %

M12%21 - 1x
MI12x19 - 3x

M12x90 (10.9) - 2x

110 Nm

AlC 40012 3

i
@
x|
Q
g
9 ¥
%

. )
A &

GGy

¢ |

b
- o
%
. o

M12x70 - 2x

OPEL VECTRA [KOMBI)
Kéd: O0298(AIC) - 17, 7. 2023

R18-46- 3x
RI18-7&- 1x




